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ENGLISH VERSION

Instructions : (1) Write any Four questions out of Eight.
(2) All questions carry equal marks.
(3) The use of scientific calculator is allowed.

1 (a) What is statistical quality control ? Explain 17.5
variation in Quality.
(b) Difference : Chart for Variable and Charts for Attribute.

2 From following information draw X and R charts. 17.5
State whether the production process is under control and
state the limits for future production.

X |33(32]40(35(24[43]45]38
R |12 |11 |08 12|20 (13 |15 (16

(n=5,4,=0.58,D; =0, Dy =2.12)

3 (a) Explain Least square method for Business forecasting. 17.5

(b) Construct and Interpret the "Input-Output" table
for two industries A and B.

4 (a) Obtain the forecasting about sales of the following 17.5

different years taking oo =0.30 and initial forecast
100.

Year (X) 2015 {2016 | 2017 | 2018 | 2019
Observe values
(Y'=X,) (Salesin Crore Rs.)

188 (199 | 212 |227 |231

(b) Fit the second degree parabolic curve to the following
data and estimate the profit for the year-2022.

Year 2010 |1 2012 | 2014 | 2016 | 2018 | 2020
Proﬁt(InCroresRs.) 110 |114 |120 [138 [152 |218
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5 (a) Distinguish Demand and Supply function : 17.5
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(b) If Production function is X =50-F X find out Total 17.5
revenue function, Marginal revenues. If demand
15 units, find out marginal revenue.
6 (a) Explain : 17.5
(1) Market Equilibrium
(2) Price Elasticity of Demand
(3) Monopoly.
(b) Prove that :
AR
n=————
AR - M.R
(¢ Explain the effect of tax on Monopoly.
7 (a) Production function Z=f(x, y) = 5—%—%} and 17.5
per unit values of x, y and z are 1, 4 and 9 respectively.
Find out maximum profit.
(b) Budget equation 4x +3y =100, Utility function of a commodity
2 2
X“+y
U=f(x,y)=|xy—
f(x,y) { Yo J
find x and y for Maximum utility.
8 Explain : 17.5
(a) Homogeneous production curve
(b) Elasticity of productivity
(¢) Total Utility, Marginal Utility, Different Curve.
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